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P 100kN/mM%{BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
zhst 1.00 | 0.00 ~ 481 59.88 | #Fhst | 0.00 ~ 0.00)| 1.57 840 zhs 1.00 | 6.00 ~ 5.40 59.88 | #hSY | .00 ~ 540 1.57 840
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
zhst 1.00 000 ~ 7.38 94.20 | #FhSt | 000 ~ 7.38)| 2.61 13.99 zhs 1.00 | 500 ~ 1245 94.20 | FnLS | 5,00 ~ 1245)| 2.61 13.99
3 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m#E{BZ B - ~ — — —
zhs 1.00 000 ~ 746 95.27 | RS | 000 ~ 0.00| 1.69 9.05 zhst 1.00 | 6.00 ~ 9.90 95.27 | RS | .00 ~ 9.90 | 1.69 9.05
4 100kN/mM%#BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mMZE#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 6.51 81.98 | =t | 0.00 ~ 0.00 | 1.69 8.61 ThList 1.00 | 5.00 ~ 840 81.98 | =n4 | 5.00 ~ 840 1.69 8.61
5 100kN/m%#8z5| 1.00 | 000 ~ 1.19| 11801 |3mZz#Bz3| — ~ — — — | 100kN/m%#BZ2% | .00 | 1063 ~ 1460| 11801 |3mE#Z5 - ~ — — —
s 1.00 | 119 ~ 898 100.00 | #nLst | 0oo ~ 898|212 11.35 ThList 1.00 | 6.00 ~ 1063 100.00 | =nLSY | 6.00 ~ 1460 212 11.35
P 100kN/m%#8z5| 1.00 | 000 ~ 1.37| 120.81 |3mZz#Bz3| — ~ — — — | 100kN/m%#BZ % | 1.00 | 1205 ~ 1960 120.81 |3mE#Z5 - ~ — — —
zhs 1.00 | 137 ~ 916 100.00 | Ths 000 ~ 916|213 11.40 zhs 1.00 | 6,00 ~ 1205 100.00| FnLSt | 6,00 ~ 1960 2.13 11.40
7 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m%E{BZ B - ~ — — —
zhs 1.00 | 000 ~ 568 71.00 | FhLst | 0.00 ~ 0.00| 1.60 8.64 zhs 1.00 | 6.00 ~ 6.70 71.00 | #hst | .00 ~ 6.70| 1.60 8564
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ zhst ~ ZhLst ~
100kN/mM%{8Z. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m##8 %% ~ IMEBZD ~
zhs ~ st ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ st ~
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